s = 5 s 55

Multiplicar por potencias de diez (nimero faltante)

Nombre:

1,571 %

2,17 %

=157.1

2,274 x

5, 805 x

8,53 x

=21.7

=2274

= 580.5

5,099 x

10,414

3,482 x

4,394 x

3,433 x

=853

=509.9

=10414

=348.2

— 4394

= 3433

Fecha:

7,842

Puntuacion:

9,61 x

10,074 x

1,874 x

= 7842

=961

=100.74

4,536 x

5,083 x

2,476 x

6, 264 x

3,492 x

2,715 %
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=187.4

=45.36

=50.83

= 2476

=626.4

= 3492

= 2715
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i =0 6% lo—o B0 Multiplicar por potencias de diez (numero faltante)

Nombre: Fecha: Puntuacion:
1,571 x 100 = 157.1 7,842 x 1000 = 7842
2,17 % 10=21.7 9,61 x 100 = 961
2,274 x 100 = 227.4 10,074 x 10 = 100.74
5,805 x 100 = 580.5 1,874 x 100 = 187.4
8,53 x 100 = 853 4,536 x 10 = 45.36
5,099 x 100 = 509.9 5,083 x 10 = 50.83
10, 414 x 1000 = 10414 2,476 x 1000 = 2476
3,482 x 100 = 348.2 6,264 x 100 = 626.4
4,394 x 1000 = 4394 3,492 x 1000 = 3492
3,433 x 1000 = 3433 2,715 x 1000 = 2715
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